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while len(lst) > 0:

1st = delete3(1lst,

1st[0])

NN NTROPKD AN'YAn Niml

1st = [random.randrange (100) for i in range(n)]
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def arithmetic_encode_env(st, p):

return

def arithmetic_encode (st, p, ' ' ) :

if

return

if

return

else:

return
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def arithmetic decode_env(a, b, p):

return
def arithmetic decode(a, b, p, , ’ ) :
if is_equal(a, ) and is_equal (b, ) :

return
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def subset suml (L, s):
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def subset findl (L, s):
if not subset suml (L, s):
return None
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def partial sums(lst):
n = len(lst)
res = [1st[0]]

return res
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2 res = 1
3 for ¢ in d.keys():
4 if d[c]>0:
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